m=-2 L, 3m(2m - 3) - 2m(2 — 4m) ] Fr-2?

O-4 @3 0-18 @0 O

B

3m(2m — 3) — 2m(2 — 4m) = 6m> — 9m — 4m + 8m>
= 14m? — 13m
— 14 % (-2)% - 13(-2)
=56 426 = 82




(a+b+c—d)(-a+b+c+d)+(a+b-c+d)(a-b+c+d) &
A0Sk ?

D 2ad + 2bc @ 3ad + 3bc @4ad + 4bc

@ 3ad - 3bc ® 4ad - 4bc

B ~
(a+b+c—-d)(-a+b+c+d)+(a+b-c+d)(a—b+c+d)
={b+c)+(a-d)}H(b+c)-(a-d)}+{(a+d)+ (b-c){(a+
d) - (b-c))

=b+c)-(a-d)?*+(a+d)?-(b-c)?

= b? +2bc + ¢* —a® + 2ad — d® + a® + 2ad + d* — b* + 2bc — ¢*
= 4ad + 4bc




3. x+y=3 xy=—-4<L x%+y?-xy 9 F2?

O 18 @ 19 @ 20 @21 ® 22

2 —xy+y* =(x+y)%-3xy
=32-3x(-4)
—21




